

Project Name: Rubio Wash Storm Drain No. 1 Storm Drain Rehabilitation

Project ID: FCC0001202 Bids Opened: 5/8/2012

Office Engineer: Abigail Flores 626-458-3157

| (1) Preliminary Rid Amount | | | | Engine | eer's Estimate | e (1) Beador Construction Company, Inc. | | (2) Zusser (| Company, Inc. | (3) G. E | (3) G. B. Cooke, Inc. | | 1) Kormx, Inc. |
|----------------------------|--|------------|-------------------|-------------|----------------|--|---------------|-------------------|---------------|-------------------|-----------------------|-------------------|----------------|
| (1) Pre | eliminary Bid Amount | | | | | | \$451,700.00 | | \$451,930.00 | | \$469,318.00 | | \$479,985.00 |
| (2) Uni | it Price Detail | | | | | | | | | | | | |
| <u>Item</u> | <u>Description</u> | <u>Qty</u> | <u>Unit Price</u> | <u>Unit</u> | <u>Amount</u> | Unit Price | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 1 | IMPLEMENTATION OF BMPS | 1 | \$5,000.00 | LS | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$3,000.00 | \$3,000.00 | \$8,000.00 | \$8,000.00 | \$14,500.00 | \$14,500.00 |
| 2 | RESTORATION OF EXISTING IMPROVEMENTS | 1 | \$5,000.00 | LS | \$5,000.00 | \$25,000.00 | \$25,000.00 | \$6,000.00 | \$6,000.00 | \$5,000.00 | \$5,000.00 | \$20,000.00 | \$20,000.00 |
| 3 | TRAFFIC CONTROL | 1 | \$5,000.00 | LS | \$5,000.00 | \$35,085.00 | \$35,085.00 | \$3,000.00 | \$3,000.00 | \$5,000.00 | \$5,000.00 | \$3,500.00 | \$3,500.00 |
| 4 | SHORING OF OPEN | 1 | \$20,000.00 | LS | \$20,000.00 | \$5,000.00 | \$5,000.00 | \$12,000.00 | \$12,000.00 | \$100.00 | \$100.00 | \$1,000.00 | \$1,000.00 |
| | EXCAVATIONS | | | | | | | | | | | | |
| 5 | MOBILIZATION | 1 | \$30,000.00 | LS | \$30,000.00 | \$43,000.00 | \$43,000.00 | \$60,000.00 | \$60,000.00 | \$45,000.00 | \$45,000.00 | \$30,000.00 | \$30,000.00 |
| 6 | CLEARING AND GRUBBING | 1 | \$10,000.00 | LS | \$10,000.00 | \$15,000.00 | \$15,000.00 | \$10,000.00 | \$10,000.00 | \$6,000.00 | \$6,000.00 | \$34,300.00 | \$34,300.00 |
| 7 | UNCLASSIFIED FILL | 220 | \$20.00 | CY | \$4,400.00 | \$18.00 | \$3,960.00 | \$20.00 | \$4,400.00 | \$48.00 | \$10,560.00 | \$50.00 | \$11,000.00 |
| 8 | JUNCTION STRUCTURE PER STD PLAN 333 | 1 | \$2,000.00 | EA | \$2,000.00 | \$5,000.00 | \$5,000.00 | \$2,500.00 | \$2,500.00 | \$3,000.00 | \$3,000.00 | \$10,000.00 | \$10,000.00 |
| 9 | 18" FLAPGATE | 1 | \$6,000.00 | EA | \$6,000.00 | \$2,000.00 | \$2,000.00 | \$3,200.00 | \$3,200.00 | \$4,500.00 | \$4,500.00 | \$2,500.00 | \$2,500.00 |
| 10 | CHAIN LINK RIGHT OF WAY FENCE, 6' HIGH | 46 | \$20.00 | LF | \$920.00 | \$75.00 | \$3,450.00 | \$45.00 | \$2,070.00 | \$80.00 | \$3,680.00 | \$100.00 | \$4,600.00 |
| 11 | 3' - 0" W X 4' - 8" H RCB | 26 | \$1,000.00 | LF | \$26,000.00 | \$1,000.00 | \$26,000.00 | \$520.00 | \$13,520.00 | \$1,123.00 | \$29,198.00 | \$700.00 | \$18,200.00 |
| 12 | 18" RCP, 2000 D | 138 | \$200.00 | LF | \$27,600.00 | \$80.00 | \$11,040.00 | \$60.00 | \$8,280.00 | \$75.00 | \$10,350.00 | \$80.00 | \$11,040.00 |
| 13 | CONCRETE BACKFILL FOR CONNECTOR PIPE | 10 | \$200.00 | CY | \$2,000.00 | \$100.00 | \$1,000.00 | \$150.00 | \$1,500.00 | \$150.00 | \$1,500.00 | \$350.00 | \$3,500.00 |
| 14 | RESTORATION OF PERMANENT SURFACING | 1 | \$5,000.00 | LS | \$5,000.00 | \$10,000.00 | \$10,000.00 | \$5,000.00 | \$5,000.00 | \$18,000.00 | \$18,000.00 | \$5,500.00 | \$5,500.00 |
| 15 | MODIFIED TRANSITION STRUCTURE PER STD PLAN 341 | 2 | \$10,000.00 | EA | \$20,000.00 | \$9,000.00 | \$18,000.00 | \$6,530.00 | \$13,060.00 | \$8,000.00 | \$16,000.00 | \$7,300.00 | \$14,600.00 |
| 16 | CATCH BASIN PER STD PLAN 3015 | 1 | \$3,000.00 | EA | \$3,000.00 | \$8,500.00 | \$8,500.00 | \$4,000.00 | \$4,000.00 | \$6,500.00 | \$6,500.00 | \$4,500.00 | \$4,500.00 |

Project ID: FCC0001202

Bids Opened: 5/8/2012 Office Engineer: Abigail Flores 626-458-3157

| | | | Engin | eer's Estimate | ` ' | eador Construction (2 Company, Inc. | | (2) Zusser Company, Inc. | | (3) G. B. Cooke, Inc. | | 4) Kormx, Inc. | |
|--|----------------------------|------------|-------------------|----------------|---------------|-------------------------------------|---------------|--------------------------|---------------|-----------------------|---------------|-------------------|---------------|
| (1) Pre | (1) Preliminary Bid Amount | | | | | \$451,700.00 | | \$451,930.00 | \$469,318.00 | | | \$479,985.00 | |
| (2) Un | it Price Detail | | | | | | | | | | | | |
| <u>Item</u> | <u>Description</u> | <u>Qty</u> | <u>Unit Price</u> | <u>Unit</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 17 | ANNULAR SPACE GROUTING | 120 | \$200.00 | CY | \$24,000.00 | \$245.00 | \$29,400.00 | \$260.00 | \$31,200.00 | \$175.00 | \$21,000.00 | \$380.00 | \$45,600.00 |
| 18 | JACK 49" X 33" HDPE OVAL | 673 | \$600.00 | LF | \$403,800.00 | \$305.00 | \$205,265.00 | \$400.00 | \$269,200.00 | \$410.00 | \$275,930.00 | \$365.00 | \$245,645.00 |
| | PIPE | | | | | | | | | | | | |
| Unit Price Total | | | | | \$599,720.00 | | \$451,700.00 | | \$451,930.00 | | \$469,318.00 | | \$479,985.00 |
| (3) Local Small Business Enterprise (LSBE) Preference Amount | | | | | | | \$0.00 | | \$0.00 | | \$22,585.00 | | \$22,585.00 |
| (4) LS | (4) LSBE Adjusted Amount | | | | \$451,700.00 | | | | \$451,930.00 | | \$446,733.00 | | \$457,400.00 |
| Comm | Comments | | | | | NON | RESPONSIVE | | | APPARENT | LOW BIDDER | | |



Project Name: Rubio Wash Storm Drain No. 1 Storm Drain Rehabilitation

Project ID: FCC0001202 Bids Opened: 5/8/2012

Office Engineer: Abigail Flores 626-458-3157

| (4) Dealinein and Did America | | | Engineer's Estimate | | (5) Clark | Corporation | | (6) Mike Bubalo Construction Company, Inc. | | (7) Blois Construction, Inc. | | ech Drilling & Shoring, Inc. | |
|-------------------------------|---------------------------|------------|---------------------|-------------|---------------|-------------------|---------------|--|---------------|------------------------------|---------------|------------------------------|---------------|
| (1) Pre | eliminary Bid Amount | | | | | | \$480,301.00 | | \$490,528.00 | | \$493,034.00 | | \$498,332.00 |
| (2) Un | it Price Detail | | | | | | | | | | | | |
| <u>Item</u> | <u>Description</u> | <u>Qty</u> | Unit Price | <u>Unit</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 1 | IMPLEMENTATION OF BMPS | 1 | \$5,000.00 | LS | \$5,000.00 | \$4,900.00 | \$4,900.00 | \$5,000.00 | \$5,000.00 | \$4,203.00 | \$4,203.00 | \$2,000.00 | \$2,000.00 |
| 2 | RESTORATION OF EXISTING | 1 | \$5,000.00 | LS | \$5,000.00 | \$2,000.00 | \$2,000.00 | \$5,000.00 | \$5,000.00 | \$4,326.00 | \$4,326.00 | \$2,000.00 | \$2,000.00 |
| | IMPROVEMENTS | | | | | | | | | | | | |
| 3 | TRAFFIC CONTROL | 1 | \$5,000.00 | LS | \$5,000.00 | \$4,000.00 | \$4,000.00 | \$3,000.00 | \$3,000.00 | \$5,032.00 | \$5,032.00 | \$2,000.00 | \$2,000.00 |
| 4 | SHORING OF OPEN | 1 | \$20,000.00 | LS | \$20,000.00 | \$39,777.00 | \$39,777.00 | \$5,000.00 | \$5,000.00 | \$5,573.00 | \$5,573.00 | \$2,000.00 | \$2,000.00 |
| | EXCAVATIONS | | | | | | | | | | | | |
| 5 | MOBILIZATION | 1 | \$30,000.00 | LS | \$30,000.00 | \$46,000.00 | \$46,000.00 | \$30,000.00 | \$30,000.00 | \$11,026.00 | \$11,026.00 | \$40,000.00 | \$40,000.00 |
| 6 | CLEARING AND GRUBBING | 1 | \$10,000.00 | LS | \$10,000.00 | \$4,500.00 | \$4,500.00 | \$12,000.00 | \$12,000.00 | \$16,628.00 | \$16,628.00 | \$1,000.00 | \$1,000.00 |
| 7 | UNCLASSIFIED FILL | 220 | \$20.00 | CY | \$4,400.00 | \$25.00 | \$5,500.00 | \$30.00 | \$6,600.00 | \$25.00 | \$5,500.00 | \$20.00 | \$4,400.00 |
| 8 | JUNCTION STRUCTURE PER | 1 | \$2,000.00 | EA | \$2,000.00 | \$2,200.00 | \$2,200.00 | \$5,000.00 | \$5,000.00 | \$3,124.00 | \$3,124.00 | \$1,500.00 | \$1,500.00 |
| | STD PLAN 333 | | | | | | | | | | | | |
| 9 | 18" FLAPGATE | 1 | \$6,000.00 | EA | \$6,000.00 | \$4,500.00 | \$4,500.00 | \$3,000.00 | \$3,000.00 | \$3,127.00 | \$3,127.00 | \$1,000.00 | \$1,000.00 |
| 10 | CHAIN LINK RIGHT OF WAY | 46 | \$20.00 | LF | \$920.00 | \$75.00 | \$3,450.00 | \$50.00 | \$2,300.00 | \$78.00 | \$3,588.00 | \$15.00 | \$690.00 |
| | FENCE, 6' HIGH | | | | | | | | | | | | |
| 11 | 3' - 0" W X 4' - 8" H RCB | 26 | \$1,000.00 | LF | \$26,000.00 | \$850.00 | \$22,100.00 | \$1,000.00 | \$26,000.00 | \$1,387.00 | \$36,062.00 | \$600.00 | \$15,600.00 |
| 12 | 18" RCP, 2000 D | 138 | \$200.00 | LF | \$27,600.00 | \$80.00 | \$11,040.00 | \$60.00 | \$8,280.00 | \$103.00 | \$14,214.00 | \$100.00 | \$13,800.00 |
| 13 | CONCRETE BACKFILL FOR | 10 | \$200.00 | CY | \$2,000.00 | \$75.00 | \$750.00 | \$300.00 | \$3,000.00 | \$268.00 | \$2,680.00 | \$250.00 | \$2,500.00 |
| | CONNECTOR PIPE | | | | | | | | | | | | |
| 14 | RESTORATION OF | 1 | \$5,000.00 | LS | \$5,000.00 | \$7,000.00 | \$7,000.00 | \$7,000.00 | \$7,000.00 | \$7,635.00 | \$7,635.00 | \$2,000.00 | \$2,000.00 |
| | PERMANENT SURFACING | | | | | | | | | | | | |
| 15 | MODIFIED TRANSITION | 2 | \$10,000.00 | EA | \$20,000.00 | \$6,500.00 | \$13,000.00 | \$10,000.00 | \$20,000.00 | \$7,008.00 | \$14,016.00 | \$5,000.00 | \$10,000.00 |
| | STRUCTURE PER STD PLAN | | | | | | | | | | | | |
| | 341 | | | | | | | | | | | | |

Project ID: FCC0001202

Bids Opened: 5/8/2012 Office Engineer: Abigail Flores 626-458-3157

Addenda: 0
Duration: 50 Working Day(s)

| | | | Engineer's Estimate (5) | | (5) Clark | ke Contracting Corporation | (6) Mike Bubalo Construction Company, Inc. | | (7) Blois Construction, Inc. | | (8) Drill Tech Drilling & Shoring, Inc | | |
|--|----------------------------|------------|-------------------------|-------------|---------------|----------------------------|--|-------------------|------------------------------|-------------------|---|-------------------|---------------|
| (1) Pre | (1) Preliminary Bid Amount | | | | | | \$480,301.00 | | \$490,528.00 | | \$493,034.00 | | \$498,332.00 |
| (2) Un | it Price Detail | | | | | | | | | | | | |
| <u>Item</u> | <u>Description</u> | <u>Qty</u> | Unit Price | <u>Unit</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 16 | CATCH BASIN PER STD PLAN | 1 | \$3,000.00 | EΑ | \$3,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$2,805.00 | \$2,805.00 | \$1,000.00 | \$1,000.00 |
| | 3015 | | | | | | | | | | | | |
| 17 | ANNULAR SPACE GROUTING | 120 | \$200.00 | CY | \$24,000.00 | \$250.00 | \$30,000.00 | \$200.00 | \$24,000.00 | \$394.00 | \$47,280.00 | \$200.00 | \$24,000.00 |
| 18 | JACK 49" X 33" HDPE OVAL | 673 | \$600.00 | LF | \$403,800.00 | \$408.00 | \$274,584.00 | \$476.00 | \$320,348.00 | \$455.00 | \$306,215.00 | \$554.00 | \$372,842.00 |
| | PIPE | | | | | | | | | | | | |
| Unit Price Total | | | | | \$599,720.00 | | \$480,301.00 | | \$490,528.00 | | \$493,034.00 | | \$498,332.00 |
| (3) Local Small Business Enterprise (LSBE) Preference Amount | | | | | | | \$22,585.00 | | \$0.00 | | \$0.00 | | \$0.00 |
| (4) LSBE Adjusted Amount | | | | | | | \$457,716.00 | | \$490,528.00 | | \$493,034.00 | | \$498,332.00 |
| | | | | | | | | | | | | | |

Comments



Project Name: Rubio Wash Storm Drain No. 1 Storm Drain Rehabilitation

Project ID: FCC0001202 Bids Opened: 5/8/2012

Office Engineer: Abigail Flores 626-458-3157

| | | | | Engine | eer's Estimate | (9) 4-Con Engineering, Inc. | | ` , | Garcia Juarez struction, Inc. | | | (12) Lee | Construction Company |
|-------------|--|------------|-------------------|-------------|----------------|-----------------------------|---------------|-------------------|-------------------------------|-------------------|---------------|-------------------|----------------------|
| (1) Pre | eliminary Bid Amount | | | | | | \$524,540.00 | | \$542,000.00 | | \$549,235.00 | | \$580,814.00 |
| (2) Un | it Price Detail | | | | | | | | | | | | |
| <u>Item</u> | <u>Description</u> | <u>Qty</u> | <u>Unit Price</u> | <u>Unit</u> | <u>Amount</u> | Unit Price | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 1 | IMPLEMENTATION OF BMPS | 1 | \$5,000.00 | LS | \$5,000.00 | \$1,500.00 | \$1,500.00 | \$22,000.00 | \$22,000.00 | \$1,000.00 | \$1,000.00 | \$7,000.00 | \$7,000.00 |
| 2 | RESTORATION OF EXISTING | 1 | \$5,000.00 | LS | \$5,000.00 | \$2,500.00 | \$2,500.00 | \$22,000.00 | \$22,000.00 | \$24,000.00 | \$24,000.00 | \$5,500.00 | \$5,500.00 |
| | IMPROVEMENTS | | | | | | | | | | | | |
| 3 | TRAFFIC CONTROL | 1 | \$5,000.00 | LS | \$5,000.00 | \$7,000.00 | \$7,000.00 | \$22,000.00 | \$22,000.00 | \$1,000.00 | \$1,000.00 | \$17,000.00 | \$17,000.00 |
| 4 | SHORING OF OPEN | 1 | \$20,000.00 | LS | \$20,000.00 | \$600.00 | \$600.00 | \$50,000.00 | \$50,000.00 | \$1,500.00 | \$1,500.00 | \$12,500.00 | \$12,500.00 |
| | EXCAVATIONS | | | | | | | | | | | | |
| 5 | MOBILIZATION | 1 | \$30,000.00 | LS | \$30,000.00 | \$50,000.00 | \$50,000.00 | \$22,000.00 | \$22,000.00 | \$25,000.00 | \$25,000.00 | \$50,464.00 | \$50,464.00 |
| 6 | CLEARING AND GRUBBING | 1 | \$10,000.00 | LS | \$10,000.00 | \$7,000.00 | \$7,000.00 | \$22,000.00 | \$22,000.00 | \$3,000.00 | \$3,000.00 | \$16,500.00 | \$16,500.00 |
| 7 | UNCLASSIFIED FILL | 220 | \$20.00 | CY | \$4,400.00 | \$32.00 | \$7,040.00 | \$20.00 | \$4,400.00 | \$90.00 | \$19,800.00 | \$35.00 | \$7,700.00 |
| 8 | JUNCTION STRUCTURE PER STD PLAN 333 | 1 | \$2,000.00 | EA | \$2,000.00 | \$5,000.00 | \$5,000.00 | \$2,000.00 | \$2,000.00 | \$4,200.00 | \$4,200.00 | \$7,500.00 | \$7,500.00 |
| 9 | 18" FLAPGATE | 1 | \$6,000.00 | EA | \$6,000.00 | \$2,200.00 | \$2,200.00 | \$2,000.00 | \$2,000.00 | \$4,000.00 | \$4,000.00 | \$3,500.00 | \$3,500.00 |
| 10 | CHAIN LINK RIGHT OF WAY FENCE, 6' HIGH | 46 | \$20.00 | LF | \$920.00 | \$50.00 | \$2,300.00 | \$20.00 | \$920.00 | \$50.00 | \$2,300.00 | \$100.00 | \$4,600.00 |
| 11 | 3' - 0" W X 4' - 8" H RCB | 26 | \$1,000.00 | LF | \$26,000.00 | \$900.00 | \$23,400.00 | \$1,000.00 | \$26,000.00 | \$2,000.00 | \$52,000.00 | \$2,000.00 | \$52,000.00 |
| 12 | 18" RCP, 2000 D | 138 | \$200.00 | LF | \$27,600.00 | \$85.00 | \$11,730.00 | \$120.00 | \$16,560.00 | \$165.00 | \$22,770.00 | \$100.00 | \$13,800.00 |
| 13 | CONCRETE BACKFILL FOR CONNECTOR PIPE | 10 | \$200.00 | CY | \$2,000.00 | \$200.00 | \$2,000.00 | \$200.00 | \$2,000.00 | \$150.00 | \$1,500.00 | \$150.00 | \$1,500.00 |
| 14 | RESTORATION OF PERMANENT SURFACING | 1 | \$5,000.00 | LS | \$5,000.00 | \$6,500.00 | \$6,500.00 | \$2,000.00 | \$2,000.00 | \$1,500.00 | \$1,500.00 | \$10,000.00 | \$10,000.00 |
| 15 | MODIFIED TRANSITION STRUCTURE PER STD PLAN 341 | 2 | \$10,000.00 | EA | \$20,000.00 | \$13,000.00 | \$26,000.00 | \$2,000.00 | \$4,000.00 | \$11,000.00 | \$22,000.00 | \$11,200.00 | \$22,400.00 |
| | V 1 1 | | | | | | | | | | | | |

Project ID: FCC0001202

Bids Opened: 5/8/2012 Office Engineer: Abigail Flores 626-458-3157

Addenda: 0
Duration: 50 Working Day(s)

| | | | | Engineer's Estimate | | (9) 4-Con En | (9) 4-Con Engineering, Inc. | | (10) Garcia Juarez Construction, Inc. | | , | | e Construction Company |
|-------------|--------------------------------------|------------|------------|---------------------|---------------|--------------|-----------------------------|-------------------|--|-------------------|---------------|-------------------|---------------------------|
| (1) Pre | (1) Preliminary Bid Amount | | | | | \$524,540.00 | | \$542,000.00 | | \$549,235.00 | | \$580,814.00 | |
| (2) Un | it Price Detail | | | | | | | | | | | | |
| <u>Item</u> | <u>Description</u> | <u>Qty</u> | Unit Price | <u>Unit</u> | <u>Amount</u> | Unit Price | <u>Amount</u> | Unit Price | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 16 | CATCH BASIN PER STD PLAN | 1 | \$3,000.00 | EΑ | \$3,000.00 | \$2,800.00 | \$2,800.00 | \$2,000.00 | \$2,000.00 | \$4,600.00 | \$4,600.00 | \$7,000.00 | \$7,000.00 |
| | 3015 | | | | | | | | | | | | |
| 17 | ANNULAR SPACE GROUTING | 120 | \$200.00 | CY | \$24,000.00 | \$310.00 | \$37,200.00 | \$200.00 | \$24,000.00 | \$160.00 | \$19,200.00 | \$326.00 | \$39,120.00 |
| 18 | JACK 49" X 33" HDPE OVAL | 673 | \$600.00 | LF | \$403,800.00 | \$490.00 | \$329,770.00 | \$440.00 | \$296,120.00 | \$505.00 | \$339,865.00 | \$450.00 | \$302,850.00 |
| | PIPE | | | | | | | | | | | | |
| Unit P | Unit Price Total \$599,72 | | | | | | \$524,540.00 | | \$542,000.00 | | \$549,235.00 | | \$580,934.00 |
| (3) Lo | cal Small Business Enterprise (LSBE) | | | \$0.00 | | \$22,585.00 | | \$22,585.00 | | \$0.00 | | | |
| (4) LS | (4) LSBE Adjusted Amount | | | | | | \$524,540.00 | | \$519,415.00 | | \$526,650.00 | | \$580,934.00 |
| _ | | | | | | | | | | | | | |

Comments



Project Name: Rubio Wash Storm Drain No. 1 Storm Drain Rehabilitation

Project ID: FCC0001202 Bids Opened: 5/8/2012

Office Engineer: Abigail Flores 626-458-3157

| | | | | Engin | eer's Estimate | (13) Excel Paving Company | | (14) Atlas Und | erground, Inc. | | | | |
|-------------|---------------------------|------------|--------------------|-------------|----------------|---------------------------|--------------------|---|----------------|-------------------|---------------|-------------------|---------------|
| (1) Pre | eliminary Bid Amount | | | | | | \$599,812.00 | | \$714,084.00 | | | | |
| (2) Un | it Price Detail | | | | | | | | | | | | |
| <u>Ìtém</u> | <u>Description</u> | <u>Qty</u> | Unit Price | <u>Unit</u> | <u>Amount</u> | Unit Price | <u>Amount</u> | Unit Price | <u>Amount</u> | Unit Price | <u>Amount</u> | Unit Price | <u>Amount</u> |
| 1 | IMPLEMENTATION OF BMPS | 1 | \$5,000.00 | LS | \$5,000.00 | \$6,900.00 | \$6,900.00 | \$5,270.00 | \$5,270.00 | | | | |
| 2 | RESTORATION OF EXISTING | 1 | \$5,000.00 | LS | \$5,000.00 | \$5,300.00 | \$5,300.00 | \$1,226.00 | \$1,226.00 | | | | |
| | IMPROVEMENTS | | | | | | | | | | | | |
| 3 | TRAFFIC CONTROL | 1 | \$5,000.00 | LS | \$5,000.00 | \$7,318.00 | \$7,318.00 | \$2,214.00 | \$2,214.00 | | | | |
| 4 | SHORING OF OPEN | 1 | \$20,000.00 | LS | \$20,000.00 | \$11,000.00 | \$11,000.00 | \$11,201.00 | \$11,201.00 | | | | |
| | EXCAVATIONS | | | | | | | | | | | | |
| 5 | MOBILIZATION | 1 | \$30,000.00 | LS | \$30,000.00 | \$5,500.00 | \$5,500.00 | \$9,913.00 | \$9,913.00 | | | | |
| 6 | CLEARING AND GRUBBING | | \$10,000.00 | LS | \$10,000.00 | \$6,600.00 | \$6,600.00 | \$3,166.00 | \$3,166.00 | | | | |
| 7 | UNCLASSIFIED FILL | 220 | \$20.00 | CY | \$4,400.00 | \$49.00 | \$10,780.00 | \$52.00 | \$11,440.00 | | | | |
| 8 | JUNCTION STRUCTURE PER | 1 | \$2,000.00 | EA | \$2,000.00 | \$3,500.00 | \$3,500.00 | \$1,838.00 | \$1,838.00 | | | | |
| | STD PLAN 333 | | | | | | | | | | | | |
| 9 | 18" FLAPGATE | 1 | \$6,000.00 | EA | \$6,000.00 | \$2,800.00 | \$2,800.00 | \$2,450.00 | \$2,450.00 | | | | |
| 10 | CHAIN LINK RIGHT OF WAY | 46 | \$20.00 | LF | \$920.00 | \$35.00 | \$1,610.00 | \$37.00 | \$1,702.00 | | | | |
| | FENCE, 6' HIGH | | | | | | | | | | | | |
| 11 | 3' - 0" W X 4' - 8" H RCB | 26 | \$1,000.00 | LF | \$26,000.00 | \$1,100.00 | \$28,600.00 | \$1,113.00 | \$28,938.00 | | | | |
| 12 | 18" RCP, 2000 D | 138 | \$200.00 | LF | \$27,600.00 | \$110.00 | \$15,180.00 | \$125.00 | \$17,250.00 | | | | |
| 13 | CONCRETE BACKFILL FOR | 10 | \$200.00 | CY | \$2,000.00 | \$161.00 | \$1,610.00 | \$156.00 | \$1,560.00 | | | | |
| | CONNECTOR PIPE | | | | | | 22 (22 22 | | 212.222.22 | | | | |
| 14 | RESTORATION OF | 1 | \$5,000.00 | LS | \$5,000.00 | \$6,400.00 | \$6,400.00 | \$12,058.00 | \$12,058.00 | | | | |
| 4.5 | PERMANENT SURFACING | | * 40.000.00 | | #00.000.00 | #5.000.00 | * 44.000.00 | ** ** ** ** ** ** ** ** ** ** ** ** ** | *** | | | | |
| 15 | MODIFIED TRANSITION | 2 | \$10,000.00 | EA | \$20,000.00 | \$5,600.00 | \$11,200.00 | \$4,410.00 | \$8,820.00 | | | | |
| | STRUCTURE PER STD PLAN | | | | | | | | | | | | |
| 10 | 341 | | #2 000 CC | Ε. | #2.000.00 | CC 400 00 | ¢6 400 00 | £4.440.00 | £4.440.00 | | | | |
| 16 | CATCH BASIN PER STD PLAN | 1 | \$3,000.00 | EA | \$3,000.00 | \$6,400.00 | \$6,400.00 | \$4,410.00 | \$4,410.00 | | | | |
| | 3015 | | | | | | | | | | | | |

Project ID: FCC0001202

Bids Opened: 5/8/2012 Office Engineer: Abigail Flores 626-458-3157

Addenda: 0
Duration: 50 Working Day(s)

| | | | Engin | eer's Estimate | (13) Excel Pa | ving Company | (14) Atlas Und | lerground, Inc. | | | | | |
|----------------------------|--|------------|------------|----------------|---------------|-------------------|----------------|-------------------|---------------|------------|---------------|-------------------|---------------|
| (1) Preliminary Bid Amount | | | | | | \$599,812.00 | | \$714,084.00 | | | | | |
| (2) Unit Price Detail | | | | | | | | | | | | | |
| <u>Item</u> | <u>Description</u> | <u>Qty</u> | Unit Price | <u>Unit</u> | <u>Amount</u> | Unit Price | <u>Amount</u> | Unit Price | <u>Amount</u> | Unit Price | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 17 | ANNULAR SPACE GROUTING | 120 | \$200.00 | CY | \$24,000.00 | \$219.00 | \$26,280.00 | \$250.00 | \$30,000.00 | | | | |
| 18 | JACK 49" X 33" HDPE OVAL | 673 | \$600.00 | LF | \$403,800.00 | \$658.00 | \$442,834.00 | \$846.00 | \$569,358.00 | | | | _ |
| | PIPE | | | | | | | | | | | | |
| Unit Price Total | | | | | \$599,720.00 | | \$599,812.00 | | \$722,814.00 | | | | |
| (3) Loc | al Small Business Enterprise (LSBE) Pr | | | \$0.00 | | \$0.00 | | | | | | | |
| (4) LSE | BE Adjusted Amount | | | | | \$599,812.00 | | \$722,814.00 | | | | | |

Comments